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[rir 8 Question
-5(4-6/5-7] Area
2517 Correct response Additional guidance

m

255

100 - B or 60.7...) or 60.8 or 61

255

Shows the value Z3% or 39.(..., or

258
the value 2% or 19.6(...)

Shows a complete correct method with not
more than one computational or rounding

" 10 -Sxma2
= 25 x %+ 2 = 40 (rounding error),
100 - 40 = 60

Shows the correct unit for their area or method
eg

60.8 cm?
39,(...) and cm seen
100 and enr: seen
6073 v
100° — 5t

7+ 2 and mm’ seen

 Pupil working in mm*
For 2m, accept values in the correct
response column x 100
For 1m, accept values or methods in the
correct response column x 100

t The only error is to use the area of  whole
circle rather than half a circle

eg
“ 100 - 25

x Conceptual error

©10°-Sxms
©100-2x7x

20-5x
686

! Incorrect or no working or value for area
seen, but units given
I neither mark for calculating the shaded
area has been awarded, condone cm* seen
for the final mark
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Two circles

Correct response

Additional guidance

Shows sufficient working to indicate correct
application of Pythagoras’ theorem
e
. 10
- VI00- 36
" 10x10-6x6

States or implies that triangle ABC is an
enlargement of a 3, 4, 5 right-angled triangle
&

u Itsa 3,4, 5 triangle with sides x 2

Shows a complete correct method with not
‘more than one computaional error

11 (error) - 6

a|1m| Gives a correct explanation / Minimally acceptable explanation
Y
= Since BC is a diameter of the smaller circle, * BC s a diameter
any angle made by joining points B and C + Angles in a semicircle
t0 a point on the circle’s circumference
must be 90"
Y il (v X Incomplete or incorrect explanation
Ais on the circumference  (intersection *
+ Angle BAC must be 90°
of circles) o Saniitle
S ZRAC= 50 o ABis & rackue of the large circle, and AC
= Angle BAC s an angle in a semicircle, so it
% % s a tangent of the larger circle, s0 they
e must be at right angles
b 2m| 8, with no evidence of accurate or scale drawing
m | Shows the value 64

 For tm, emror is to square then add rather
than subtract
e

S AC =104 6
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[re & Queston|

Tangent

J3-sJa6[s-7
Correct response ‘Additional guidance
2m| Gives a correct proof that shows or implies the |/ Minimally acceptable proof
following three facts: &
1. ACis a diameter (of the large circle) * Since AC goes through B,  [1 implied]
2. ZAPCis 90° angle P is a right angle ~ [2 implied]
3. PCis aradius (of the small circle) and P is joined to the centre [3 implied]
e * ABCD goes through the diameters
= Because AC is a diameter of the larger 1 implied]

circle, ZAPC must be 90°. PC is a radius of 50 AP touches the small circle at
the smaller circle and since AP s at right right angles (2 implied]
angles to PC, AP must be a tangent of the 10 the radius 3 implied]

smaller circle
« PCis a radius &= given

ZAPC=90° & angle in a semicircle 4 For 2m, incomplata proof

[limplicd] | %
T " ZAPCis 90,30 AP and v PCare
et by a diameter is 90", right angles and AP must be a tangent to
i e e s e i e et the smaller circle 1 omitted]
+ ACis a diameter and AP touches the
M et ATy ‘,'{:’,:;,,‘,’ﬂ“ small ciecle at P where PC is & radius

[2 omitted]
* ZAPC = 90° because AP and PC are

joined o either end of a diameter, so AP
s 2 tangent as it at right angles to PC
13 omitted]

pol80-2a

0 a radius of the smallr circle [3 implied]

s0b=9-a

therefore a + b =90 [1 +2 implied]
and PC is a radius of the small circle

1m | States or implies that AC is a diameter (of the
large circle)

States or implies that ZAPC s 90°

States or implies that PC is a radius (of the

T small circle)
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Circle working

Correct response ‘Additional guidance

Gives a correct explanation

‘The most common correct explanations:

Show the correct working  Minimally acceptable explanation
e @
Tt should be 7 x 16 not = x 8 ‘16
= Needs to be x x radius’, not 7 x diameter .a
caxs
o
.t
* Incomplete explanation
e«
* The 8 is wrong
Address the misconception  Minimally acceptable explanation
@
He is finding the circumference not the area + Circumference
He s using 23, not x7* « I’ not 2ur [or 7d]
= Hehas done 4 x 2 instead of 4 + He dida’c square the 4
+ He dida’t square the radius

+ He used the wrong formula
+ He used the diameter

+ He hasn't used the radius
+ He doubled the radius

‘Show that his working gives an incorrect answer | ¥ Minimally acceptable explanation
&

@
He gets 25.(...), but it should be 50.(...) * 50, n0t 25
» His answer s half as big as it should be « It should be his answer x 2

x Incomplete explanation
"u S0
+ His answer is oo small
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Tir 8 Queston

Two semicircles

EmE
2615| Correct response Additional guidance
2m | 257+ 10,88.6, 88.5(...) or 89 t Value of 88
For 2m, do not accept unless a correct
‘method or a more accurate value is seen
tm| Shows one entry from the following lst

257 or 78.6, 78.5(...), 79)
107 (or 31.(...))

157 (0r 47.(...))

207 (or 62.8(...), 63) and 307 (o 94.(...))
50 (or 157.())

507+ 10 (or 167.(...))

Shows or implies a complete correct method
with not more than one computational or
rounding error
@
200, 308
- B, 30m, 5020
- 25x314410
= Value of 88, with no correct method or
more accurate value seen
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It should be xx 16 not x x §
= Needs to be % x radius’, not = x diameter

‘Address the misconception
@
= Heis finding the circumference not the area

® Heis using 2r, not z*
= He has done 4 x 2 instead of 4*

‘Show that his working gives an incorrect answer

@
® He gets 25.(...), but it should be 50.(...)
 His answer is half as big as it should be.

« The 8 is wrong
 Minimally acceptable explanation
@

« Circumference

« 16’ not 23 [or d]

 He didn’t square the 4

 He didn't square the radius

! Use of ‘perimeter’ for ‘circumference’
Condone

 Incomplete explanation
®
"+ He used the wrong formula
+ He used the diameter

« He hasn't used the radius
« He doubled the radius

 Minimally acceptable explanation

@
50, not 25
« It should be his answer x 2

x Incomplete explanation
%50
« His answer is too small
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o Circle angle
s5laes]

I Correct response. Additional guidance

2m | 50, with no evidence of an incorrect method

1m Shows or implis that angle ABC is 90"

Shows a complete correct method with not more
than one computational error
)

= 180110 -30 = 40,90 - 40

= 180-70-60

® 110430-90
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Tir 8 Queston

Two semicircles

[35[a]
j2615| Correct response ‘Additional guidance
2m | 257+ 10,886, 88.5(...) or 89 ! Value of 88
For 2m, do not accept unless a correct
method or a more accurate value is seen
or
tm | Shows one entry from the following list:

257 (or 78.6, 78.5(..
107 (or 31.(...))
157 (or 47,
207 (or 62.8(...), 63) and 307 (or 94.(...))
507 (or 157.(...))

507+ 10 (or 167.(...))

. 79)

or

Shows or implies a complete correct method
with not more than one computational or
rounding error
* on, 3
07 , 305

o 2R 330-20

a 25x 314410

& Value of 88, with no correct method or

more accurate value seen
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bas already been counted
For answers of 4 for part (a) followed by
5 for part (b), mark as 0, 1

Il mf s t Response assumes the piece of track shown
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Track

Correct response

‘Additional guidance

t Response assumes the iece of track shown
has already been counted
For answers of 4 for part (a) followed by
5 for part (b), mark 250, 1
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Tier Queston

Lawn
BRG]
27]18[ 8 Correct response. ‘Additional guidance
2m| 28.(..)or9%
1m | Shows or implies a complete correct method for | x For 1m, conceptual error

finding the area of the lawn, with no evidence
of conceptual error and not more than one
computational or rounding error
e
= Shows the digits 282(...) or 283
xn
3 (rounding error), 9 x 3 = 2

19 0r 18.8(...) or 6%
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T 8 Question .
Circle graph
[35fass7[es]
j20( Correct response. Additional guidance
a{2m | Completes both pairs of coordinates correctly,ie
(3,4) and (3, ~4),in ciher order
or
1m | Completes either pair of coordinates correctly
or
Shows the value 16
Shows or implies a correct method for finding.
the value of y
o
» y=25-3
b|im| 5 ~Sorts
€[2m| GivesPas(3.5,3.5) !t For 2m, gives P as (3.5, -3.5)
Condone
For 2m, equivalent fractions or decimals
1m | Shows the value 3.5(...) or 12.5 or equivalent
Shows or implies a correct method for finding the
value of x or y
)
.25
- Pe25e2
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Tier & Queston

[Esjecls7[es]

Window

24|

Correct response

Additional guidance

3m

m

or
m

ur

Gives an integer value between 3925 and
3928 inclusive

Shows a non-integer value between 3925 and
3927.5 inclusive
[rounding to the nearest whole number omitted]

Shows an integer value between 7850 and
7855 inclusive
[division of whole circle area by 2 omitted]

Shows or implies a complete correct method with
not more than one error, and follows through
to give their value correct to the nearest whole
number
&

= Im+2=S0cm,

TxS0* _ integer response outside

correct range
= %X 0.5 x 0.5 = 0.79 (premature rounding),

0794220395,

0.395 x 10000 = 3950

2x0.5

o 2X05, 100 ferron) = 39
3 (error)

Shows a non-integer value between 7850 and
7855 inclusive

or

Shows the value 0.39(..) or equivalent
[ie, the correct area in m?|

or

Shows or implies a complete correct method
with not more than one error but fails to follow
through o give their value correct to
the nearest whole number
g

. Im+2

0cm,

noninteger response outside
orrect range
» ®x 25 (error) + 2= 981.75

x For 2m or Im, conceptual error

g
©xx10042=157

x For 2m uses a radius of 25 or 0.25
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Trh Guaston

e
Mark Correct response

m
or
m

57 0r57.1(.) or 572

Indicates size &
and
gives a comect justifcation

-

S1em=1620.)
51+314=1621.)

165 %= 518(.) or 52

157 xx=49(.)

165 xx=518(.)and 157 x x <51

Shows a cormect justfcation but makes an ncorrect
orno dacision

Indicates size &
and.

gives an incomplete justification
g

S1em

514314

518(.)or52

90

© 157 xx<85)

Ring size
Additional guidance

' For 2m, minimally acceptable justification
)
o 162.)
* 49(.)andS18(.) or S2seen

X For 2m, incomplete justification
g
e sien
51431
o 6Sxx=518L)

X For 1m, incorrect or no justification
‘slongside a correct decision

o
o 5143217508206
+ Because the circumference of a size bis 51
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T uston

Frpey
Mark Correct response

57 or §7.1(.) or 7.2

Indicates size 6

and

gives a correct justifcation

g

o 51er=162(

o 514314162,

165 m=518(.)or 52
157 % x= 49.(

o 165xn=51

Shows a correct justification but makes an incorect
orno decision

or

Indicates size 6

and

gives an incomplate justifcation
g

o sien

e 514314

o S18(.)or52

. a90)

o 157 xm<st

Ring size
Additional guidance

' For 2m, minimally acceptable justification

o
o 162(.)
© 49.(.) andS18(..) or S2seen

X For 2m, incomplete justification
g
o ster
o S1e3m
o 165 xR=518(.)

% For 1m, incorrect or no justification
alongside a correct decision
o
o 5143=17,s08i206
* Bacause the circumference of a size 65 51
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Squarea
Mark Corract response ‘Additional guidance

384(.) orBSor 12250 ' 12.25 written as a fraction or mixed number

1 Answer of 38
Accept with a correct method or more accurate
value seen
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[rer  ouesr]

r Marking ovrlay available Locus of points
Conect response Addiional guidance
| it he o poie of itesccton ofthe | 1 More than o point indicsted

cincle wih adio 4, withi the tolrance as | Ignor addional poistht e cquidsant

hown o the veray rom A and B, 2 hee may b workin fo

pare (bl Ignore other addiional poits
provided it s clear which two potnts are the

1 | Deaws a sraigh lne cha fulfils the following | x Shading oradalitonallines or curves marked

three conditons below:

1 Ruked

2 i the tolerance as shown on the | x Line indicated by a seris o points o shown
overlay dashed or dotted.

3. Extended to a least boch the bem crcls
a1 shown on the overlay
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[Ter & Question|

el Marking overlay available Locus of points
11911 Correct response Additional guidance
aa|im| Indicates the two points of intersection of the ! More than two points indicated
circles with radius 4cm, within the tolerance as Ignore additional points that are equidistant
shown on the overlay from A and B, as these may be working for

part (b). Ignore other additional points
provided it is clear which two points are the
pupil’s answer for part (a)

b 1m | Draws a straighe line that fulfils the following | x Shading, or additional lines or curves marked
three conditions below:
1. Ruled
2. Within the tolerance as shown on the  Line indicated by a series of points or shown
overlay dashed or dotted

3. Extended to at least both the 6cm circles
as shown on the overlay
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[Ter 8 Question|

@

= BO and OA are radii, so triangle OBA is
isosceles, so ZABO = ZBAO. The same is
true of CO and OB, s0 ZBCO = ZOBC

= Both triangles are isosceles because two of
their sides are radii of the circle

= ‘Triangle AOB is isosceles because O is the
centre and A and B are on the
circumference, and o is triangle BOC

sfaesaled] Angle proof
16 Correct response Additional guidance
a|1m] Gives a correct explanation  Minimally acceptable explanation

<8
* BO and OA are radii, so
ZABO = ZBAO. The same is true of
€O and OB

1 Explanation correct but only refers to
ane of ZABO or ZCBO
As the explanations are essentially the same
for both angles, condone

x Incomplete explanation that does not
explain why the triangles are isosceles
@

+ OC = OB, so ZOCB = ZOBC,
and the same for ZABO
* Both triangles are isosceles.

Gives a correct proof
@
@ xexsyey=180
2042y = 180
s0x+y=90= ZCBA

7 Minimally acceptable justification
«
“xexeyey=180,s0x+y=90
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Cotton reel

Aadons gdace

37 or 9.4 or 9.42(..) or 943
with no evidence of an incorrect method

t Answer of 9
Accept provided a correct method or a more
accurate value is seen

Shows or implies that the total length should
be divided by the circumference, even if the
units are incorrect or there are rounding or
truncation errors

@
= 9100+ 9.42
" 9143n
= Digits 96...) or 97(...) seen

t Follow through from part (a)
For 2m, accept 9100 + their (a), rounded
correctly to the nearest ten, provided
9100 + their (a) s not a multiple of 10
eg, from their (a) as 7.8, accept for 2m

<170
eg, from their (a) as 7, do not accept for 2m
1300

 For tm, follow through from part (a), even
if their () is rounded or truncated before
being used
eg, from their (a) as 7.8, accept
©9100+8
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ier & Question

]
18[12[ 5

Cotton reel

Correct response

Additional guidance

2m

3% or 9.4 or 9.42(..) or 9.43
with no evidence of an incorrect method

t Ansuwer of 9
Accept provided a correct method or a more
accurate value is seen

970

Shows or implies that the total length should
be divided by the circumference, even if the
units are incorrect or there are rounding or
truncation errors
e

9100+ 9.42

" 91e3n

« Digits 96(...) or 97...) seen

t Follow through from part (a)
For 2m, accept 9100 + their (a), rounded
correctly to the nearest ten, provided
9100 + their () is not a multiple of 10
eg, from their () as 7.8, accept for 2m

< 1170
eg, from their () as 7, do not accept for 2m
* 1300

 For m, follow through from part (a), even
if their (a) is rounded or truncated before
being used
eg, from their (a) as 7.8, accept
© 9100+ 8
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[Ter & Question

f3-s[a-6]

Area

Correct response

Additional guidance

2m

m

1m

100 - ZZ or 60.7(...) or 60.8 or 61

Shows the value

the value 2% or 19.6(...)
or

Shows a complete correct method with not
more than one computational or rounding
error
t
.10 -Sxns2
25 x 7 +2 = 40 (rounding error),
100 - 40 = 60

Shows the correct unit for their area or method
8

60.8 e’

39.(...) and cm’ seen

100 and cm seen

6073 mm*

100° - 50° x 7 + 2 and mm* seen

 Pupil working in mm’
For 2m, accept values in the correct
response column x 100
For 1m, accept values or methods in the
correct response column x 100

The only error is fo use the area of a whole

circle rather than half a circle
Y
* 100 - 25x

 214(..) or 21.5 or 21
Mark as 1,0

x Conceptual error

Incorrect or no working or value for area
seen, but units given

1f neither mark for calculating the shaded
area has been awarded, condone cm’ seen
for the final mark





